7}‘%"1 %jku:

(A= AR

FOBIS ST R

Bopbk 0 33001+ B P+ B % B RES 1514
15+

1\7’3“ TEFHKEF 2FE

ﬁ.vr’ (03)3322101 ~7524

%+ %48 ¢ lemon6251@ms. tyc. edu. tw

icdﬂz CRE PR E

Fepdp? =AREI0E107 13P

Fo 2R #vad 3 10900941195

AL I ST

%,‘tﬁﬁ’ep [ E 2SR

Wit o dezp 2 (376735100E_1090094119_ATTACHL. pdf -
376735100E_1090094119_ATTACH2. pdf ~ 376735100E_1090094119_ATTACH3. pdf)

15:&@ﬁ?%i%ﬂié%ﬁ%%?ﬁﬁFﬁi%%%?%

Jl{%iy‘;,gzrﬂgi‘liél’J._fl_%, 1_41(- ’ ﬁﬁ@a
S
-~ RPp sy 0109+ 107 8P 4 &EF (- )F % 10901456925 3
PHIL -

Z g BB EFEEOS > AR  RARE B ZhAeT
(=)% - 3= 1092107 17p (¥ ) =9pF 1 12pF/%

(Z)% = 8= 1 109#107 17p (B 8- )™ = 2pF 3 HpF /32 %

(Z)% == 109#107 18p (2 & p )t =9pF 3 12pF/ 8%

ESUE 109/10/13 17:03

¥ 1 E 2 2F H"“ m||”|m“||‘H|”“||“H||H‘"”HHN‘H"‘




(e )% e 3= 01092102 18p (L Hpp )T =2 2 HpF /[0 2

¥E o

(Z)FITH= 109#10% 24p (B E» ) =91 120/ % 5
¥ o

()% » 3=t 1 109&10% 24p (A8 » )T =225/ Z Fe
Ligx o

()%= &= 1 109#107 25p (R p )t =93 12/ /8 %
B o

(M) ® A3 01098107 250 (B p )T = 2@ 1 5P/ §
AR

(1 )iﬁi Bt 109107 31p (B8 ) =9pF 2 12/ =

(L)iEdr e M BFE T35 2P TR ELR
(4% %% Rfm X BR31IEE2H)
TR L RE S
(-)F &? F T iy #
(Z )il 2 PR AFEGRH & (R EFF 2 FARND
’3‘—’3_“,‘} %) o HER FRTRERFIFLSE L
S 2 S E K o 1 Y PRSP
T R R AR MR AL s AT Y KPR RS
J4E 0 R F 2 0989-583-416 -
AW R SR Y AR A1 o

\:4

R N p;;g]_(p;g%);?’{ga: o

1E‘.

\Q

-q_\ ‘-m
‘7~\

SN

O R - L AR N -t
wlA *%’%“ﬂ%'f'*%w@w i(gwfﬁw
R



